$confidence =1,0;
return{VARZ_0) ;

}
3
}
}
¥ else
{
sconfidence =0, 9285714285714286;
retura (YAR1_0);
}
} oelse
{
$confidence =0.75;
return{¥ARZ_D) ;
)
1 else
{
sconfidence =1.0;
return{¥AR2_0) ;
)]
1 else
{
sconfidence =1.0;
return{VAR1_8);
1
}
1 else
{
*confidence =0. BB3328B8BB388838 ;
retura{VAR1_0 ;
)]
}
} else
{
tcontidenze =0. $111111112111111;
return(YAR1_0);
1
 else

{
sconfidence =0.893305439330544;
return (VART_0);

tconfidence = 0.0;
return{VAR1_G) ;
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kinclude "Q1212.1"

int
QI212{struct exQ121} example, double #confidence)

it {example.fR1 1 &= 1)
{
if (exanple. V48 = Q)
{

if {example. 7§10 = 0

{
it (example.f4_4 <= 0)
{

if {example.j4_2 (= 0}
{
if (exampie.f12_8 <= 10)
{
if (exanple.¥37 <= 0)
{
if {exampte.M2_2 <=0
{
it {example.Py2_1 <= D)
{
if (example.V87 ¢= 2}
{
*confidence =1.0;
return (VARZ_D) ;
} else
{
it (example.VB6 <= D)
{

=

sconfidence =0.8;
return{VAR1_D);

} eise

{
*confidance =1.0;
return (VARZ_0) ;

}
1 else

xconfidence =0, 9285714285714286;
return(VAR2_D) ;
}
} tlse

it (example.P8 <= 1)

{
if (example. /@7 <& 1)
{
#confidence =0.8333333333333334:
return(YARZ_D) ;
} else
{
it (example. /10 <= 1)
{
if (example.¥83 ¢= (i}
{
kconfidence =1.0;
return (YARZ_D) ;
} else
{

if (example VED {= 2)

{
tconfidence =1, 0;
return{VARI_D) ;

} else

{
it (example.2_1 <= 6)
{

*coafidence =1.0;
return(VARZ_0) ;

} eise

{
it (example. BBERF <= 0)
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if (example.V92 (= 2}

{
sconfidence =1.0;
return{VAR2_0) ;
Y else
{
if (example.V16 ¢= 0}
{
it (example. F16 A <= 220000)
{
*confidence =1.0;
retarn(YARZ_D);
1 else
{
tconfidence =1.0;
return {VAR1_0};
}
) else
{
tconfidence =1.0;
return (VAR1_0};
}
}
}oelse

if {example.P4_9 <= 0)
{
tconfidence =0.8;
return (VAR D) ;
1 else
{
sconfidence =1.40;
return(VAR2_0) ;

'
}
}
}
}
} else
{
sconfidence =0, TTITTVITTTIIVIE;
return(YART_D) ;
}
}
) else
{
sconfidence =1.0;
return(YAR1_0};
}
i
1 else
{
scontivence =0,3;
return (VAR1_0) ;
}
} eise
{
tcontfidence =0.875;
return{VAR?_D} ;
}
} else
{
it (example. 1T 0 <= 1)
{

it {(example.M2_4 &
{

if (example.VBE = 7
{
if {example. Y106 <= 1)

tconfidence =1.0;
return(YAR2_O};

1 alse

{
it (example. MI3&H®B <= 1)
{

if (example. V107 <=1)

fconfidence =0, 7288135593220338;
reture(YARI_B);
} else

{

tconfidence =1.0;
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return (VARZ_D) ;

¥

¥ oelse

{
*confidence =1.0;
return (VART_D) ;

}

}
} else

{
tconfidence =1.0;
return{VAR1_0);

}oelse

{
*contidence =1.0;
return{VARZ_0) ;

}

} else

{
tconfidence =1.0;
return{VARI_0) ;

}

}
1 else

if {example. ¥98 <= )

¥confidence =0.7631578047368421;
return(VARZ_D) ;

} else

{
tconfidence =1,0;
return(VARI_0) ;

}
} alse
{
if (example. V53 <= 0}
{
#contidence =1,0;
return(VARI_(} ;
Y else
{
i1 (exanple.vez <= 2)
{
*confidence =1.0;
return(VARZ_0} ;
} else
{
sconfidence =1.9;
return(VART D) ;

}
} else

{
if (example.®2_3 (= 0)
{

scondideace =1.0;
return(VARI_0);
} else

{
it (example.¥16 <= )

{
sconfidence =1,9;
return(VARZ_0);

} else

{
*confidence =1.0;
return{VAR!_0);

}

} else

{
if (example.}2_8B <= 0)
{

if (example.F8 <= 1)

{
if (exaaple.f910 <= 2)
£

if (example.M2_3 <=0
{
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if (example.V102 <= 0)
{

if (example. I L&< G 0)
{
it (exampie.¥101 = 0)
{

sconfidence =0.8406593406593407;
return(YARZ_0);
1 oelse
{
it (example. [ O @ <= 2)
{
sconfidence =1.0;
return (VARZ_D};
} else
{
sconfidence =0.3333333333333334;
return (VARL_D);

}
1 else
{
if {example.V86 = )

if (example.M2_7 =0
{

if (exemple.M4a_3 =0
{
*confidence =0.8;
return (VAR1_0};
} else
{
tconfidence =1,0;
return (VARZ2_9Y;
}
} else
{
sconfidence =0.75;
return (VARZ_D) ;
}
} else
{
sconfidence =1.0;
return(YARZ_0) ;

}
1 else
{
if {example.¥i00 <= 0)
{
tconfidence =1.0;
return(VAR1_D) ;
¥ oelse
{
if (example. 5% <= 1030)
{

*confidence =0, 9230768875739658;
return{¥AR2_0);

} else

{
*confidence =0.7652305917858397;
return{vAR) ) ;

}
} else
{
it (exampte. @74 <{= 0}
{
if {example.v102 <= 0)

if (example.¥92 {= 1)
{
tconfidence =1.0;
return{VARZ_0);
} else

if (example, M7 <= 1)

{
zconfidence =1.0;
return (YARI_0};

} else

{

it (example. V85 (= 0)
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if (exaople, B ¢= 4)
{
if {example. 4 _2 ¢= B
{
it (example.¥84 (= 0)
{

xeonfidence =1,0;
return (VARZ_0} ;
}else
{
if (example.P92_1 <= 0)
{
*confidence =1.0;
return (VAR1_0}
} else
{
¥confiderce =1.0;
return(VARZ_0);

}

} else

{
it (exanpie.¥92 (= 2)
{

kctopfidence =1.0;
return (YAR2_D) ;
1 else
{
i1 (example.f1 0 ¢= 1)
{
stonfidence =1.0;
return{¥AR1_D);
1 else
{
if (example. 6 A0 <= T0000)
{
*gonfidence =1.0;
return (VARZ_0) ;
} else
{
tconfidence =1,0;
return(¥AR1_D) ;

}

}oelse

{
sconfidence =1.0;
retarn(VARI_D);

}

} else

{
seonfidence =1.0;
return(VARZ_0};

}

i
}
1 else

{
sconfidence =1.0;
return(VARZ_D);

} erse

{
*confidence =1.0;
return (VARI_D);

}
}
1 etse
{
if {example.YB4 <= 0)
{
tconfidence =0, 6666666666666666;
return(VAR2_0);
} eise
{
tconfidence =1,0;
return(VAR]_0);
1
1 else
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it (example.Vid1 <= 0)
{
sconfidence =0.9242424242424242;
return (VARZ_D) ;
} else
{
sconfidence =1.0;
retuen (VAR1_0)

}
} else
{
it {example.¥101 <= 0)
{
if (example. BIO4IM = 8)
{
tconfideace =0.B46153846153846;2
return(VAR2_0};
1 eise
{
#confidence =0.8333333333333334;
refurn (YARI_D} ;
}
} oelse
{
xconfidence =1.0;
return (VAR1_D) ;

}
}

$confidence = 0.0:
return{VAR2_0);
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#include Q131207

int

QIN12(struct exQi312 example, double $confidence)

{

if (example M1 1 &= 1)

{

it (example.f2_2 <= 0)
{
it (example.M12_4 &= 0)
{
if (example. Y6 AD <= 327868)
{
sconfidence =0,8613053027721886;
retern (VARZ_D) ;
} else
{
*contidence =0.7818182169779655;
return (VARI_D) ;
}
} eise
{
if (example.¥37 =
*confidence =0. B5T142857142857¢;
return(VAR1_D) ;
} else
{
tcenfidence =1.0;
return{YARZ_0);
1
}
} oelse
{

if (example. B8 (= 1)
{ it (example. V87 <= O
( it (example.¥38 (= ©)
{ i[f (example.F12_1 &= D)

it (example.¥98 {= D)
{

if (exanple.M4 _5 ¢=10)

{
sconfidence =0. 9166666666 666666 ;
return{VARI_0};

} else

{
tcenfidence =1.0;
return{vVARZ_D) ;

}

} else

{
tconfidence =1.0;
return(YARZ_0) ;
}
}oelse
{
if (example.¥102Z <= 0)
{
if (example. V45 <= 0}

if (example ¥I§ <= 0)

{
if (example.M4_2 <=0}
{

if (example.F)2_9 <= 0)

{
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if {example. LS = W)
{
it (example.¥38 <= 0}

tconfidence =1.0;
return (YARI_0} ;

1 else
i
if {example. @6 A0 <= 220000}
{
if (example.PI2_5 <{=0)
{
¥confidence =0, 8571428571428571;
retura (VARZ_0);
} else
{
it (example. V82 {= 0)
{
sconfidence =0.7§;
return{¥AR_0) ;
1 else
{
sconfidence =1.0;
return(VARZ_0) ;
}
1 else
{
*confidence =1.0;
return(YART_0);
}
}
} else

sconfidence =0.75;
retura{VAR2_0) ;

} else

{
sconfidence =1,0;
return{VAR2_0);

}

1 else

kcenfidence =0.8064516129032258;
retern(VARZ_0) ;

} else
{
it (example. V35 <= 0)
{
xconfidence =0.B181818181818182;
return(VARI_Q};
} else
{

+confidence =1.0;
return (VARZ_D) ;

B
} oelse
{
sconfigence =1.0;
return (VAR2_0) ;
1 else
{
fconfidence =0.8;
return(VARI_D) ;
}
1 else
{
if (exaople.B2_1 <{= D)
{
sconfidence =1.0;
return(VAR2_ 0} ;
} else
{
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it (example.B14_1 <= 0)

{
if (example. V107 (= 2)
{
sconfidence =1.0;
retura (VARY_0) ;
} else
{
tconfidence =1.0:
return(VARZ_{);
}
} else
{

sconfidence =1.0;
retorn (VART_D) ;

}
}
}else
{
*confidence =0.7692307692307643;
return(VARI_B) ;
}
} else
{
sconfidence =1.0;
return{VAR1_0} ;
}
1
} else

if (example.¥101 <= D)

{
if (example.JR8 <= 1)
{

if {example.P)7 0 (= 2)
{
it {example.y47 (= D)
{
if {example.V85 (= 0}
{

if {example V33 {= )

{
sconfidence =0. 9069767441860465;
return(VARZ_D);
1 else
{
it {(example.[B16 AL <= 492D6)
{
tconfidence =0.92647T6595629827;
return(VAR2_0);
1 else
{
it {example.F4_8 <=0}
{
if (example. B S45M0 <= 1700}
{
sconfidence =0.8138843315563079;
return{vAR2_0):
} else
{
if (example. 11 0fF (=1}
{
it {exampie. M5 AR ¢ 1)
{
xconfidence =1.0;
return (VARI_0};
} else
{
*confidence =0. T657058119522946;
return(¥AR2_0) ;
}
} else
{
tconfiderce =0. 9152602702294578:
return{VAR2_0) ;
1
}
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} else

{
if (example. MR =8
{

i1 (example.V8? {= 0)
{
if (example.¥91 (= )
¢ .
tcontidence =0.8333333333333324;
return(VAR1_0) ;
}else
{
if {exampie.V88 <=10)
{
*confidence =0.77552807027148196;
return (VAR2_0);
}oelse

tconfidence =0.7%;
return {VAR1_0) ;

1
1 else
{
sconfidence =1.0;
return(YAR1_0);
}
} else
{
*confidence =1.0;
return{VARI_0) ;

}

} else

{
it (exawmple. V48 (= B}
{

if (example. M9 <= 1)
{

if (example.Mj2_6 <= 0)
{
if (example. V106 <= 1)
{
+confidence =0 6REGEED185188785;
return{VARZ_0) ;
} else
14
*confidence =0.6444445308641284;
return(VARI_D} ;
1
} else
{
*confidence =1.9;
return{VARZ_D) ;
}
)} else
{
tcenfidence =1.0;
return{vARZ_0) ;
}
} else
{
*confiderce =1.0;
return(VAR1_G} ;

}

} oetse

{
if {exampte.P12_6 (= 0)
{

i1 (example.®4_8 <= 0}
{
if {exampte.V34 <= 0)
{

fconfidence =0.74;
return (VARI_D)
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} else

{
*confidence =1.8;
return(YARZ_0) ;

}

1 eise

rconfidence =1.10;
return {(VARI_D) ;

}
1 else
{
*confidence =1.0;
return(VARZ_0} ;
}
}
} else
{
it (exampie.VE§ {= 0}
{
if (example.f92_9 <= 0}
{
sconfidence =0.T142857142857143;
return{vARI_0);
] else
{
tconfidance =1.0;
raturn (¥AR?_0)
}
} else
{
*confidence =1.0;
return(VARZ 0) ;
}
}
} else

sconfidence =0. B9BS507246376812;
return(VARZ_0};

} else

{
if (example.2_8 <= 0)
{

it (example. IS AH <= 1)
{
if (example.M2_7 <= 0)
{
tconfidence =0. §181818181818182;
retern (VAR1_0) ;
} else
{
if (exauple. M7 <= 1}
{

i1 (example.¥91 (= 2)

{
#confidence =0.75;
return(VARZ_0) ;
1 else
{
sconfidence =1.0;
return{YAR1_D);
}
} else
{
¥confidence =1.0;
return (YARZ_0) ;
1
}
} else
{
confidence =1.0;
return (YARZ_D) ;
}
} else

sconfidence =1.10;
return (YARY_0) ;
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'
}
scenfidence = 0.0;
return(YARZ_0};
}
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Finclede "Q1412.17

int
Qud12(struct exQ1412 exazmple, double $confidence)

if (example. M9 ¢= 1)

{
if (example. MO <= &)
{

if (examole.v4s <= 0}
[ if (example.v9s <= 0)
! it (example.B5 AR = 1)
{ if (example.VI00 (= 0}
( if (exanple. B9 <= 2)
{ if {example. Va7 ¢= 0)
{ i{f (example.¥36 <= 0}

it (example.B4_7 <=0

{

if {example. 16 A1 {= 30000}

{

#confidence =0.8399999550000022;

return(VARZ_Q) ;
} else

{

sconfidence =1.0;

return (VARI_D} ;
}
} else
{
fconfidence =1.0;
return (VAR _D);
}
} else
{
sconfidence =1,0;
return{VARI_D);
}
} else
{
tconfidence =1.0;
retura (VARZ_D) ;
}

} else

if (example, M8 <= 2)
{
if (example. M8 ¢= 1)
{
if {example. V87 <= 0}
{

it (example. V16 <= 0)
{

if (example.M4_3 ¢ ¢
{

it (exampie.Md_2 <= 0)

{

i1 (example. 5 &M <= 1350)
{

if {example. WA <= 0)
{

it (example.M2_2 ¢=0)
{

tconfidence =0, 6363636363636364;
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return(VARZ_0):

1 else

{
*confidence =0.6bG66EEEE6E665E6;
return(YARY_0);

}
} oelse
{
¥confidence =0.BEB338E8B8888838;
return(VAR1_0) ;
1 else
{
tconfideace =1, 0;
return(VAR2_0};
}
1 else

if (example.f2_5 <=0}
{

it (example.M2_2 <= 0)

{
sconfidence =1.0;
return {VARZ_D} ;
} else
{
it (sxample. 530 <= 400}
£
*confidence =0, 8;
return(VAR2_0D ;
1 else
{
sconfidence =1.0;
return (VARI_0};
)]
}
} else
{
*confidence =1,0;
return (YAR2_0) ;
}
}
} else

it (example. F174HE) <= 0)
{
it (example.Vi§ <= D)

{
if (example. V82 (= )
{
i1 (exsmple. RIS M <= 0)
{
sconfidence =0.7142857142857143;
return{VARZ_D)
} wlse
{
xconfidence =1.0;
raturn{VAR1_8};
} else
{
if (examgle.V86 <= 0)
{
sconfidence =1.0;
return{¥AR1_0) ;
} else
{
it (example. & A0 <= 153000)
{
*confidence =1.0;
retura (VARZ_D) ;
} else
{
sconfidence =1.0;
return{VAR1_0);
}
1
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1 else

tconfidence =0. SB6E6ERG66666666;
return(VAR2_D) ;

1 else

{
sconfidence =1.9;
return{vaR1_0) :

}
}
 else
{
scorfidence =0.3380880038888884;
return(VAR1_0) ;
}
1 else
{
it (exampie.V16 &= D)
{
if (example.fM2_7 <= D)
{
tconfidence =1.0;
return(YARI_0) ;
} else
{
it (example. V86 (= B
{
tconfidence =1.0;
return{vAR2_0);
} oelse
{
*confidence =1,0;
return (VART_0) ;
}
}
} else
{
*confidence =1.0;
return(¥AR2_0) ;
}
}
}oelse
{
if {example.P11 (=1}
{
¥contidence =1.0;
return(VARI_D) ;
} else
{
if (example. M6 AT {= 40000)
{
*confidence =1, 0;
retern{YARI_{);
} eise
{
tcanfidence =1.0;
return(VARZ_0} ;
}
}
¥
} eise
{
sconfidence =0.875;
return{VARI_0} ;
}
}
} else
{
it (example.v48 {= D)
{
i1 {example. V107 (= &)
{
tconfiderce =0.9523809523808523;
return (VAR1_D);
} else

if (example. V1Dl <= D)
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*confidence =0.75;
retura (VAR2_0) ;

} else

{
sconfidence =1.0;
return (VARI_D) ;

}

} eise

{
sconfidence =1,0;
return(VARZ_0) ;

}

} else

{
it (example.f4_2 <= 0)
{

it (example.B4_3 ¢=0)
{

if (example.M2_6 <= &
{
if (example.M2_7 <=0}
{
it (example. V84 <= 0}
{

it (example.M11 G 1)
{
sconfidence =1.0;
retarn(VARI_0};
} else

#canfidence =0.91828T969537755;
return (VARZ_0} ;
1
} alse
{
$confidence =0, 6847829408603156;
return(VART_O) ;
}
) else
{
sconfidence =1.0;
return{vVARZ_§) ;
}
} else
{
tconfidence =1.0;
return(YARI_D);
}
} else
{
sconfidence =1.0;
retern{¥AR2_D);
}
1 else
{
*confidence =0. $888388803988088;
retura{YAR1_D) ;

}
} else
{
if (example.¥107 {= 1}
{
if (example.Y10B <= 1}
{
i1 (example. B 6 A0 <= 76000)
{
kconfidence =0.75;
retura{VARI_0);
} else

sconfidence =1,0;
return{VAR2_0) ;

} else
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if (example.fM2_7 <= D)

{
tionfidence =3, 0;
return{vVAR1_0};
} else
{
if (example. 3L &< <=0
{
if (example.V8S <= 0)
{
it (example.¥ié (= 0)
{
if {example. )6 AQ <= §00D0)
{
*confidence =1.0:
return{VART_D) ;
} else
{
tconfiderce =1.0;
return (VARZ_0} ;
}
} else
xconfidence =1.0;
return{(vAR1_0) ;
}
}oelse
{
*confidence =0, 8333333333333334;
return{VARI_0) ;
}
} else
{
xconfidence =1.0;
return (VARZ_0} ;
}
}
}
} else

{

zconfidence =1.0;
return(VARZ_D) ;

}
} else
{
if (example.@14_6 <= 0)
{
*confidence =0.7872340425531815;
return (VAR1_0) ;
} else
{
if (exampie.1 1 &= 1)
{
*confidence =1.0;
return{VARI_6};
} else
{
sconfidence =i, 0;
return{vaR2_0);
}
}
}
} else
{
sconfidence =0.9;
return {VARI_D) ;
}
} etse

{ if (example. 10 (=2
[ if (example.B1 1 <= 1)
{ if (example.M]2_3 <= 0)
{ it (example.¥36 <= 0)
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if {example.f12_4 <= D)

{
if {example. 2L &< &= 0)
{
if {example.V88 {= 0)
{
xconfidence =0.B162387431770818;
return (VARZ )
} else
£
sconfidence =0. B83BBEE111107639;
return{VARI_0) ;
1
} else
{
scontidence =0.7TTITITTITITINNG;
return(YARI_0);
1 else
{
sconfidence =0.3808388083388888;
return {VAR1_0) ;
}
} eise

{
szonfidenzs =1.0;
return{VARi_0);
}
} else
{
seonfidence =1.¢;
retura{VAR1_D) ;

1 else
{
if (example.¥100 <= @)
{
if {(example.¥90 {= 2)
{
if (example 53 <= 4121)
{
sconfidence =0.8908380529045821;
return{vARZ_0);
1 eise
{
sconfidence =0, 8157892628946801;
retura{YAR1_0) ;
1
} else
{
if {example.V87 {= @)
{
it (exampie. @2 8 =0

if (example.V84 <= 0)

{
if (example.¥90 ¢= 3)
{
if (example.f32_1 <= 0)
{
it (exanple. W 3IHM <= 1)
{
$confidence =1.0;
return (VARI_G}
1 else
{
#cantidence =%.0;
return{¥AR2_0) ;
}
} else
{

it (example.¥16 = O

{
if {example. BIS AR &< 1)
{

if (example.M12_4 {=0)
{
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sconfidence =0.8333333333333334;
return (VARI_D} ;
} else
{
tconfidence =1,0;
return{VARZ_0) ;

}
} else
{
it (example.f92_4 <=0}
{
sconfidence =0.8233332333333334;
return (YAR2_D) ;
1 else
{
tconfidence =1.0;
return(VAR1_0) :
¥
}
} else

{
#confidence =0.75;
return(VARZ_0);

}
} else
{
sconfidence =1.0;
return (YARZ_D) ;
}
} oelse
{
if (example. B} 6 AL (= §63446)
{
#confidence =1.0;
return(YAR?_0);
1 else
{
kconfidence =1.0;
return{¥AR1_0);
1
} else
{
tcontidence =0, 6363636363636364;
return{¥AR1_0);
}
} else
{
sconfidence =0.75;
return (VAR1_D) ;
i
}
} eise
{
if {example.B2_5 < 0}
{
sconfidence =0.84615384615)8461:
return{vAR1_0) ;
1 else
{
*confidence =1.0;
return (YAR2_0);
}
}
}
} oelse
{
xconfidence =0.9230769230769211;
return (VARZ_0);
}

}
tconfidence = 0.0;
return (VARI_D) :
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